
Share 21 balloons between 7 children. How many balloons each?

Both sides of the equation need to be equal. 
What is the missing number?       24  ÷  3  =  56  ÷    ______

28 sweets are shared between 7 children. Hanna then gives her share to Mary. How many 
sweets does Mary now have?

Dividing by 7

There are 3 boys and 4 girls.
35 sweets are shared between the 7 children. How many sweets did the boys get altogether?

A 21 minute sporting event is divided into 7 equal rounds. How many minutes is each round?

Share $49 between 7 people. How much does each person get?

Magda has 21 coins. She places them in 7 equal piles. How many coins in each pile?

A skier needs to train for 21 hours over 7 days. If he wants to train the same number of hours 
each day, how many hours a day must he train?

There are 7 identical boxes. The combined mass of all the boxes is 49 kg. What is the mass of 
each box?

70 people are divided into 7 teams. Each team has 2 adults and the rest are children. How 
many children are on each team?
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